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1) Twelve different video games showing vielence were observed. The duration times of
violeace were recorded, with the thimes (seconds) listed below, What requirements must
be satisfied to test the claim that the sample is from a population with a mean greater
than 85 sec? Are the requirements allsatisfied?
180 [14 (593|540 |61 [203/46 [ 172/0 [2 |54

What requirements must be satisfied? Select all that apply.

The sample observatnons must be a simple random sample
Either the population is normally distributed, or n>30, or both,
At least one observation must be above or below 85 sec.

The conditions for a binomial distnibation must be satisfied

Ans:
A The sample observations must be a simple mndom sample
B. Either the population is normally distnbuted, or n>30, or both

Are the requirements all satisfied?

Aa No. The conditions fora binominl distoibusion are nos satistigdh and
there is not enough imformation Riven 10 deteymnane Whethe the sample
1s a simplemndom sample

. No. Thegample sia is greater than 30, thesample does not appear
10 be from a buted population, and there is not enough
mformatidn g 1 detammc whether the sample 1s a simple random
sample
No. The ssmple size 15 not greater than 30, the sample does not appear
#0 be form a normally distributed population, and there are no
observations above 85 sec.
Yes. A normal quantile plot suggests that the sample is from a
normally distnbuted population, and there are observations above and
below 85 sec
Yes. A normal quantile plot suggests that the sample is from a
normally distnbuted population, and there is enough information to
determine that the sample is a simple random sample.
. Yes. The conditions for a binomial distribution are satisfied, and
there is enough information 1o determine that the sample 15 a simple
random sample.

Ans:
. No. The sample size is not greater than 30, the sample does not appear to
be from a nonmally distributed population, and there is not enough
information given to determine whether the sample 15 a simple random

sample
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2) The display provided from technology available below results from using data for a
smartphonecarrier's data speeds at airports to test the claim that they are from a
population having a mean less than 6.00 Mbps. Conduct the hypothesis test using these
results. Use a 0.05 significance level. Identify the null and alternativehypotheses, test
statistic, P-value, and state the final conclusion that addresses the original claim,
Technology eutput:
| T-Test |

p<600

t= - 0384485

p = 0 358532

x=§72

Sx w5 432044

n=%0

Identify the test statstic

Ans: -0.36 (Round to two decimal places as needed )
Iidentify the P-value.

Ans: 0359 (Round to three decimal places as needed. )
State the final conclusion that addresses the onginal claim.
Ans:

Failed to reject Ho There is not sufficient evidence to suppost the claim that the sample
is from a population with a mean less than 6 00 Mbps,

3) A data setancludes data from 500 pandom texnsdoes. The display from techoslogy
available below results from using the tomado lengths (miles) to test the claim that the
mean tgemado length is greate than 1.8 miles. Use a 005 significance Tevel. Identify the
null nd alternative hypotheses, test stathstic, P-value, and state the final conclusion that
addoesses the onginal claim,

Technology output:
. B iary vom Tochnokogy -

B L ——

v test results
0 Hean of vanable
Hy:p=28
H, p>28
| Varisble | Sample Maan | $2d Err. | OF | T-Sant
| Langth S IGIN 0 Je0ron av | 2 1158

What are the null and alternative hypotheses?
Hep=2.8 miles

Hyp>2.8 miles

Identify the test statistic

Ans: 2.12 (Round to two decimal places as needed )
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ldeminfy ghe Povalps
Amns: 0 017 (BEownd o three decimal places as needed |

Snate the hnal conclusion that addresses the onginal claim

hns: Hepect He There 15 sulMicent evidence (o support the claimn that the mean tormada lengih 15

greater than 2.8 miles

4) For a hypotheesis tesi of the claim that the mcan amount of sheep for adualos is less fhan 8
hours. techmalagy auipal shows thai the hypothesis test has power of 045061
smpporting the claim that p<8 hoars of sleep when the aciual population mean s 6.5
hiours of sleep. Interpred this saloe of the power, then identily the value of | and
mierpred that value

Inierpred this value of the power.

A
Mhe chance of recognizing that <8 hours i3 nol very ligh when in reality p=6.5 hours

ldentilfy the value of i and interpres that value. Select the correct choice below and il
in the answer box lo complete vour choice,

Ans The valee [ =10u85 | =0 54584 indicategthal there 13 & greaber than 2% changa of
failing vo reco@ize than p< 8 houis whenin realivy p=a" howrs

51 Determing whether the resalis appear o h:.l.lr; ﬂlﬁqilhl significamce. and alsao
determine w hether the results mppens to have practical significance.
Im o sty of & birth séx selectiim fethod msed toincrease the hikelihood of a baby being
teorw Tem@be, 1928 wsers of the methed gave birth o %44 males and 984 femabes, There is
ahout 1996 chance of getting thyt many hahies born female il the meibhad had mao eMect.

Anywer:
Because theve B 8 1%, chance of getting that many babies born female of the method had no
eftect the method i have statstical sigmificancenal many couples would hikely use

3 Prﬂ-{{u‘iﬂrt ithinr raises the likelikeod of a baby borm female from ke approximaely Py raie
expecied by chance o the 1% produced by this meihod
S thes method does nodl have practical signilicance

) Cansiruct ome fabde that pnclwdes relatve ireguencses Based on the [Pequencs
distribainisins shown below., thei Chmipare fhe AmiEnmis af tar in menlfilered and flered
cigareiies, Do the cignretie Aliers appear io be eflective? {Hint: The Gliers redoce the
amouni of ter ingested by the smoker. )

Thesa are somea of the few and the most helpful list of
MyStotlab Answers.,
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Tar (rig) in Tar {mg) in
Honfiltered Filtered
Cigarettes  Frequency Cigarettes Frequency
10 =24 1 r=12 1
-0 L1 13-18 g
N-38 14 19-24 [}
A0 = 42 B A5-740 1B
43-48 )
lotal fuanber for (non-bilvered)=L+0+ | 4-+B+23=35
l'otal numbser for ( Fillered)=1+3 +6+ 16=25
Compleie ihe relanve frequency table below
Tar (migh Relative Fregquency Relative Freguency
(Mon-filbered) {Filiered)
T-12 0% =002 5)* 1007 4% (=1725)% 10025
13-18 0% 8%
1924 % | 24%
215-30 0% el =
1136 S6%% L)
3742 12% nr 2 . B
| 43-48 T LA N L. .

Do cigareite lers appear 1o be «fecgive ?
Anx: Yes, Because the relative frequency of th@ bigher 1ar cla®ses = greater far nonlilier=d
CrpATEl e

Ty Constrnet a stemi-and-leaf plonof the 1esi soores:
67, T RETS KO 89 88 G008, | 0
Anceriding wrder: 67,73, 75 6 88 8% 8% M) 98,1040
Construct the stem-and-leal plet. Choose the correct answer below.

Stemn | Leaves
s 7
T 15
8 |6BO9D
9 |08
I |0

How does the stern-and-leal plet show the distnibution of these dala™
Ains
The lengrhs of the rows are similar o the heighis of bars in a histogram; longer rows of daa
cormespand o higher frequeencies

Bi A snmple of blood pressure messuremenis is tnken from o datn set and those valoes
(mm Hgh are hsted below. | he valowes are matched so that sulpects each haye systalic
aid diastolic measirements, Fuad the mean and maedian for each of ihe fwo samples and

Mail : infe@gradesnina.cam Call us: +1 320-285-9371



JE
GRADES
MIBJA.COM
them compare the two sets of resulis. Are the measores of center the best Slansogs ia nae

wills these data W lan else moghn be better”

Svatalic | Diastolic
12 74
T &0
o6 Fed
117 &2
124 i
1ZH gl
| 44 G
131 | G
130 | T8 |
| 110 | BT
Find the means

The mean for swseolic 15 123.% mm Hg and the mean tor diastohs = 7401 mim Hg

Find the medians
The median for sysredic is 123 mm Hg and the median for diasiéhic is 73 mm Hg

Compare the posilts. Chaas: the comecrinswer below
4 The meean and the median fosabe @asiohc pressure are beah Beaer than the mesn and the
et i Far the svialic prgssung
B, The median 5 bower for the doastels: piess wre, bal (e [ower fod the ystalic
PresEure.
(. /Themean is lower for the dizitalic pressure, bul the median o5 lower o the sysiolic

pressure.
[ "The mean and the median for the systolic pressure are both loswer thas the mean and the

enblian Gop i diaz ol pressure
E  The mean and median appear 1o be roughly the same for both tvpes of blood pressune

Ams: (A The mean and the median for the diaselic pressure are bath bower than the mean and
the median for the svsinlic pressure

Are thie measires of cenier the best stansbics b0 use wath these daga™

4 Since the sysiolc and deastolic blood pressures measure dafferent charactershcs,
a campanson 6f the messuies of center doesi't make sense

B Since the sample sizes are large, measures of center would not be a vahd way e
conmmpare ke dala sets

C Since the sysiolic amd diasiolic blood pressures measure differen) ¢haraciernsnes,
canly meemsuies of center should be used 10 compare the daa ses

[ Since the sample sizes are equal, measures of cemter are a valid way 10 Comipare
the dak seis
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Ans: [A) Since the svstolic and diasiolic blood pressures measure different
characteristics, a comparison of the measures of center doesn't make sense.
What else might be better?
A Because the data are matched, it would make more sense to investgaw any
outliers that do not fit the pattern of the other observations
B, Since measures of center would not be appropriate, it would make more sens
to talk about the minimum and maximum values for cach data set
. Because the data are malched 18 would make more sensa (0 mvesh gt
whether there s an associanon o comelauon berween the two blood
Pressures.
[} Simce measures of center are appropriate, there would not be any bete
STATISENC DO LSC LN COMparing the data sets

Ans: U Because the data are maiched, of would makes more sense o Investigate whether thera s
an association of correlanon berween the two blood pressures

29 The I'|r||||'|'l-ir.|i'_ wre the raiings al mplEshy femules in nm I"L]bl"'l'imtl:lllﬂ_'l.'lﬂ'l I speed
dating. Use/the given data 1o consiruet a boxplot and identif the S-nmmber semmary.,

Ol sNsTas[aslas ast@MNaB (35 TP 5 [s[5 6 [65]65]7
The S-pumber summary 15 1, 2573 578 and 7.5
Wohere §
| = minimum :alag
2 5= 1™ Cuarnle
35 = Median or ™ Quanile
5 3rd Cartile
P8 = Maimuem Valoe
Boxplot
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10) In an experiment, college students were given either four guarters or a 51 bill amd they
could ither l.':_'(-p i MAREY 35 :|'_|rn1l it om gam, Uhe resulls nre summarized in the
table. Complete parts (a) through () below.

Purchased Kept the
Cium Money
Stwdents Given Four |
CQuarters | 1 19
Students Given a 51 Bill ]} 14

a, Find the probability of randomly selecting a student who spent the money, grven that the
student was given four quarers.
The prnhal_‘u|i1'-.- i =2 T 2T+ 19y=0 587
b Find the probability of randomly selecting a student who kept the money, grven that the
student was given four quarters
Mhe |'||-:|h:||1||il1.- =1 2T+ 1=0 413
c. What do the precedimg results suggpesi”
A A shdént given four quanters 15 maore likelyo have speapt (he meney tham a student
civena 51 all
Astident given four quamers is morelikel o have spenpthe money
A stedent given four quaricrd 15 merelikely tohave kept the money.
A student given four quartens 1s mare ltkely to have kept the money than a student
l,i'l.'tu a5l kil
Answer . B _Astedent given four quarters 15 more hkely to have spent the money

o R I+
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